= A
N = 0] &F AF S & AN A
20228 = 20l A LEHSH WEE
SA: REFHY
Mz HznE 4 I
Sl 249 N U B4 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
mES=psEini 109,886,356 99,932,315 9,954,041
= 9,998,500
g 34,658,000
Jl 9,468,000
A 87,000
= 53,658,639
£ 2,016,217
asusEs 4 A& 93,845,096 85,814,935 8,030, 161
= 3,968,500
g 30, 193,000
Dl 9,468,000
A 87,000
= 48,112,379
£ 2,016,217
24 13 2 4 71,656,765 59,154,803 12,501,962
= 3,968,500
g 11,646,000
J| 9,468,000
= 44 558,048
£ 2,016,217
HEWS0IS XA 22,306,443 14,914,642 7,391,801
J| 9,468,000
o= 12,838,443
201 et | 6,503 25,500 N 18,997
01 AFR 2t 2| bl 6,503 25,500 N 18,997
Okl s HEsuUEosEg48s NEAMNMY =2
L AR M 6,503,000 6,503
207 I & d| 500,000 0 500,000
02 & AR EHY| 500,000 0 500,000
OsdYd WSESIE AAH JsIEs
500,000,000 500,000
308 AMXISHMSOIA 21,799,940 14,889, 142 6,910,798
J| 9,468,000
=} 12,331,940
01 IXHHIMNEEXTZ 21,799,940 14,889, 142 6,910,798
Oko s Hasusos g43
21,799,940,000 21,799,940
J| 9,468,000
o= 12,331,940
LA SARHEH 2 1,165,743 1,154,106 11,637
201 et | 70,637 80,000 AN9,363
01 AP 22| d| 70,637 80,000 A9,363
OEHZ2I0IsANNILH AIRA 2=
20,000,000 20,000
OEHZ20IsANIAEH ZHAIAE 2 Xt
50,637,000 50,637




SN DERYY
A Hsus g4 XA
@4 2 I8 € 84 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 1,074,106 1,074,106 0
05 RIZHRI & 3 1,074,106 1,074,106 0
OsEZY0lsNadye 29 1,074,106, 000 1,074,106
403 MtXISHHE X201 & 21,000 0 21,000
01 XM A=2EE 21,000 0 21,000
O wssdi OIsXN3UEH JIAL FHA
o2 11,000, 000 11,000
O=24= wsdi OlsX3dy &I ¢
10,000, 000 10,000
SZ2ussdgeEx 2,016,900 1,515,000 501,900
= 713,000
< 1,303,900
207 A RO 2| 19,000 0 19,000
01 289 19,000 0 19,000
OMAXt WSAX OlsEH STXIAHE =8
19,000, 000 19,000
308 XXM SO A 1,071,000 1,190,000 A 119,000
01 HIXNHHBNEES 1,071,000 1,190,000 A 119,000
Sgunssd 2N 666,000,000 666,000
Oz dEXY 2N 405,000, 000 405,000
403 UHXHHSA=0l& 926,900 325,000 601,900
= 713,000
< 213,900
01 HXHMA=E X 926,900 325,000 601,900
OusAi olsxed FLXA 926,900, 000 926,900
= 713,000
= 213,900
HaHA & K& 1,974,500 1,397,604 576,896
= 1,974,500
403 MtXISHH S0l & 1,974,500 1,397,604 576,896
= 1,974,500
01 AXSHMA=2E X 1,974,500 1,397,604 576,896
OMadHAs &2 K& 1,974,500, 000 1,974,500
= 1,974,500
s=8 wnsE2d 2,075,700 2,436,500 A.360,800
s 1,887,000
< 188,700
308 Xt Xl &AM S0 & 2,075,700 2,436,500 360,800
s 1,887,000
< 188,700
01 X HHBLEES 2,075,700 2,436,500 A.360,800
O338 HAXNA(sER) 474,100,000 474,100
as 431,000




2A NEZ Y
A Hsus g4 XA
ool 249 XY 2 §4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 43,100
O=38 HAXA(=sER) 1,601,600, 000 1,601,600
s 1,456,000
< 145,600
S3EHAXZ(NSRE) 1,325,500 1,941,500 A 616,000
ras 1,205,000
< 120,500
308 XXIEHH SOl A 1,325,500 1,941,500 A 616,000
as 1,205,000
< 120,500
01 AXHHBILEES 1,325,500 1,941,500 A 616,000
O338 HAXNA(ZESR) 1,325,500, 000 1,325,500
s 1,205,000
< 120,500
SZEEANXS (XNSRE) 665,500 990,000 A 324,500
s 605,000
< 60,500
308 XX EHH SOl A 665,500 990,000 A 324,500
s 605,000
< 60,500
01 HXNHHNBHEELS 665,500 990,000 A 324,500
O338 HAXNA(ZESR) 665,500,000 665,500
s 605,000
< 60,500
KTX &etotatel 8 & AR 29 X3 51,000 60,000 A 9,000
308 X EHSOIA 51,000 60,000 A 9,000
01 HIXNHHBNEES 51,000 60,000 A 9,000
OKTX ZOHotat ! HEAISA 29 X &
51,000, 000 51,000
AMAHA 2 AE X3 9,185,000 9,185,000 0
207 A O] 85,000 85,000 0
01 2284 85,000 85,000 0
OANltA BE=X24 Y 85,000,000 85,000
307 glz2+ol & 9,100,000 9,100,000 0
09 2+HAHEEXS 9,100,000 9,100,000 0
OAAHA THE XA 9,100,000, 000 9,100,000
ANLHHA 2t ALY XIT& 12,273,000 9,785,000 2,488,000
< 12,057,000
g2 216,000
207 A RO 423,000 270,000 153,000
< 207,000
g2 216,000
01 A3l 423,000 270,000 153,000




A

% -/
Mz HznE 4 I
Sl 249 N U B4 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OCdH~ 222224 s 89
270,000,000 270,000
& 54,000
£ 216,000
OsnsE dd9xX € MHAEI 89
127,500,000 127,500
OAUSsSHEHA 2ULSAME 249
25,500,000 25,500
307 2iz2to| & 1,000,000 0 1,000,000
09 2L AHEXZ2 1,000,000 0 1,000,000
ONMNUHsHEHA HIAMHIAMNE X
1,000,000, 000 1,000,000
308 AHXIEHSOIA 10,850,000 9,515,000 1,335,000
01 AIXSHMENMNEX= 10,850,000 9,515,000 1,335,000
ONMUsHEHA H22des HHEXH
8,500,000,000 8,500,000
OMUH=sHEHA HHXHX & 1,000,000, 000 1,000,000
OE2 Uizns ss&4 MEXE
1,350,000, 000 1,350,000
AE=WSIIE HA 0L el X K& 43,500 0 43,500
= 43,500
308 XHXIGH SO0l & 43,500 0 43,500
= 43,500
01 AIKISHHEMNEXZ 43,500 0 43,500
OLENEINE HH O X XN
43,500,000 43,500
= 43,500
CLAHA SHEE 2= 3,374,217 2,545,000 829,217
= 920,000
& 654,000
£ 1,800,217
207 I & 3,374,217 2,545,000 829,217
= 920,000
& 654,000
£ 1,800,217
01 A 800,000 800,000 0
OZHUE LHAHASHEPAAY S
800,000,000 800,000
= 240,000
£ 560,000
02 & A Y| 2,574,217 1,745,000 829,217
ObHdHARHEBAAE 2=(BIS XH)
2,574,217,000 2,574,217
= 920,000
& 414,000
£ 1,240,217




SN DERYY
A Hsus g4 XA
el 249 XY Y 84 (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
HIed 2SN 4,968,370 2,672,400 2,295,970
= 2,922,100
< 2,046,270
308 XXX S0 A 4,968,370 2,672,400 2,295,970
s 2,922,100
= 2,046,270
01 AXSHBLEELS 4,968,370 2,672,400 2,295,970
O82X 028 XS 8- X
4,968,370, 000 4,968,370
= 2,922,100
< 2,046,270
HASSEX DX X3 A 5,026,900 5,659, 150 A 632,250
s 5,026,900
403 MM S X201 H 5,026,900 5,659, 150 A 632,250
s 5,026,900
T RAXEHAZ2E X 5,026,900 5,659, 150 A 632,250
OANUsHEHA SR X2
5,026,900,000 5,026,900
s 5,026,900
HESwWsSAIE 2 Mg X 108,400 593,064 A 484,664
403 XAtXISHM S K201 ™ 108,400 593,064 A 484,664
01 X SHHMA2E X 108,400 593,064 A 484,664
OHASAE 2YEAME SX(SEO)
8,400,000 8,400
OF&EY gsdly AN 50,000, 000 50,000
OMEZ HASZE XA 50,000,000 50,000
EHAl ZHE At RI& 694,910 840,237 A 145,327
308 XXM S0l A 654,910 638, 167 16,743
01 IXNSHHBMNEES 654,910 638, 167 16,743
OBHEEA 23X A 464,910,000 464,910
OEHAl CHEIXH XI& 165,000, 000 165,000
OHSEAl IIS0ISAIAE I 25,000,000 25,000
403 XIS E X201 & 40,000 202,070 A 162,070
01 AXSHMA2EER 40,000 133,920 293,920
OIVR tsEEALE 2= 25,000,000 25,000
OMQUEAl AIRA JIsE22 15,000,000 15,000
Al 2XHES R 300,300 195,000 105,300
= 300,300
308 XXM S0l A 300,300 195,000 105,300
= 300,300
01 AXSHHBABE 300,300 195,000 105,300
OEAl Z2XHEA K& 300,300, 000 300,300




SA: REFHY
A Hsus g4 XA
ool 249 XY 2 §4 (S &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| = 300,300
FENSXH SYXNDX =L (MEA) 3,632,000 2,800,000 832,000
403 UHXSHHSA=0l& 3,632,000 2,800,000 832,000
01 X SHHM U422 L 3,632,000 2,800,000 832,000
O=¢ st2 sk 2Ex10X =24
1,851,000, 000 1,851,000
Ogal st=2Xsi 2Ex10X =24
1,300,000, 000 1,300,000
O&FZ st=2XsA 2Ex10X =4
481,000, 000 481,000
AMSEE HAXE HAXNSHSEI 3 EZAY 34,400 184,900 A 150,500
= 17,200
< 17,200
402 RI2FXt20l 34,400 184,900 A 150,500
= 17,200
< 17,200
02 QI2t X2 AL E X (0l X THE) 34,400 0 34,400
OAAHA HIA&XARSHSEI FERAEX
34,400,000 34,400
= 17,200
< 17,200
HNHAXE MR EH2XH ALY 434,482 0 434,482
403 XIS E X201 & 434,482 0 434,482
01 X SHHX2E= 434,482 0 434,482
OdMHAXYE HHEX 5 HEXZ
434,482,000 434,482
wSetdE e At 22,188,331 26,660, 132 A4,471,801
s 18,547,000
EN 87,000
< 3,554,331
nsordae 22 FA 1,610,281 1,065,482 544,799
EN 87,000
< 1,523,281
201 L2l 70,716 73,800 N 3,084
01 At 22l 70,716 73,800 A 3,084
ORSYSBIINALAAS L DEFAVE S =
& 14,000, 000 14,000
OusAtD £01J 822 MA 3,103,000 3,103
OXNsis2idE & nsSAdEHNE 2L S
3,613,000 3,613
OnsSAD oigaHe & 50,000, 000 50,000
203 PR =&l 2,565 2,708 A 143
03 Al =X H 2 =& 2,565 2,708 A 143
Ons3adx PRFA S 2,565,000 2,565

_6_




2N NEFHMY
HHM: ENE 84 N
S nseotd a2 ALY

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
308 XXM SO0 A 140,000 125,174 14,826
01 AXNSGHBLAEES 140,000 125,174 14,826

OnsSetdES LA 100,000, 000 100,000
ORE28t 28f= #2 10,000, 000 10,000
OunsAX wsSAtD oYy 2K
30,000, 000 30,000
403 Ut E X201 & 1,397,000 773,800 623,200
EN 87,000
< 1,310,000
01 XXM A=2E = 1,397,000 773,800 623,200
O 5030 4 Y EXNEB Sx(
Z0d) 750,000, 000 750,000
OuSoHEAIEIME A 87,000,000 87,000
EN 87,000
OU=dBANAE EXALS 100,000,000 100,000
ONMAEZ NES A2l CHAE WX E A A
et 100,000,000 100,000
Ozg=x&d =4 & 230,000, 000 230,000
Oustlss dX2+ 100,000, 000 100,000
OOFAAl BHE S A E] IS SS XA
30,000, 000 30,000

s S XA 28,050 24,650 3,400
07 212t01 & 28,050 24,650 3,400
02 HIAFLAHFEX 28,050 24,650 3,400

OZSEEZH2II SEEEANR EsHXA
17,000,000 17,000
Osd sM00UAEs &sH X&
11,050,000 11,050
SEFUNEXZHL 18,547,000 23,225,000 A4,678,000
s 18,547,000
403 XXM S K201 A 18,547,000 23,225,000 A4,678,000
as 18,547,000
01 XM A=2EE 18,547,000 23,225,000 A4,678,000
OEg8 HEE &AE F=XES =4
1,175,000, 000 1,175,000
as 1,175,000
O=¢ Hgs SI=XE =4 725,000,000 725,000
s 725,000
ONMEZ NES S2EFXIER AE
1,368,000, 000 1,368,000
s 1,368,000
OMT HES ZAFUE I4
1,250,000, 000 1,250,000
= 1,250,000
O3FAl d2ts BE=XESY  3,500,000,000 3,500,000

_7_




SN RERHY
My EDE 84 X

SHol: DECIF B AY CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
e 3,500,000
Osliies Ote=xt& =4 100,000, 000 100,000
s 100,000
OOt&tAl 3 X7 BE=xE 24
2,500,000, 000 2,500,000
s 2,500,000
OBHE BH=NME U 22AL =¥ =Y
FAUHE =4 2,100,000,000 2,100,000
s 2,100,000
OMEZ At=32 SE=XE =4
100,000, 000 100,000
s 100,000
OZFA d2ts d==x& 248 337,000,000 337,000
s 337,000
O2Y sUi48 tE2F=X& &4 500,000,000 500,000
s 500,000
O2g8 Ha&sS ==& =4 350,000,000 350,000
s 350,000
OEgd €318 t&2=XE =4 90,000, 000 90,000
s 90,000
OOt&tAl E2H A SI=XHE 24
617,000,000 617,000
s 617,000
O34 s&8el 2gF=xE =4 500,000,000 500,000
s 500,000
O34 a=el[2a0el gI8gF=E =4
550,000, 000 550,000
s 550,000
O34 ool [0 Hsg=xE =4
236,000,000 236,000
= 236,000
ORHE =XEs =4 620,000, 000 620,000
s 620,000
OUW&=ZEA = =XHEIY 248 879,000,000 879,000
s 879,000
Onls gwg BE=IE =4 150,000, 000 150,000
s 150,000
Otfet =2 S2E=1E 24 900,000, 000 900,000
s 900,000
DEAD F0/7| 42,500 100,000 A57,500
201 2et24d] 42,500 100,000 A 57,500
01 At 22l 42,500 60,000 217,500
OgE&Eo WsSotd =8 AW S 42,500,000 42,500
s 249 1,909,500 1,710,000 199,500
306 ¢ 2 1,909,500 1,710,000 199,500
01 &3 1,909,500 1,710,000 199,500




2N NEFHMY

=R

Helr nsetdae] Al

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ousgi+=d 24 1,909,500, 000 1,909,500
AAsSX2AtgY 28 B3 DR 51,000 55,000 A 4,000
308 XXIEHHSOIA 51,000 55,000 24,000
02 8d+NTF= 51,000 55,000 A 4,000
ONSA2F=ALHRE W= AR 3
51,000, 000 51,000
CRYsE 722 15,776,000 13,890,000 1,886,000
= 6,030,000
s 4,465,000
= 5,281,000
SZOMANY B 15,776,000 13,890,000 1,886,000
= 6,030,000
s 4,465,000
< 5,281,000
SIMUIE XA (HEAS) 980,000 560,000 420,000
403 Mt SHHSA=0l& 980,000 560,000 420,000
01 HIXSHMA2E X 980,000 560,000 420,000
OduIZ &AXl(Al2) 980,000, 000 980,000
SIMUIZE XA (HEAL) 940,000 800,000 140,000
401 A& HIZ 2018 940,000 800,000 140,000
01 A& HI 940,000 800,000 140,000
Odux=z HX(%) 940,000, 000 940,000
fUNSHEHH & £X 2,571,000 6,804,000 A 4,233,000
s 2,571,000
403 XIS S X201 & 2,571,000 6,804,000 A 4,233,000
s 2,571,000
01 X SHHA2E = 2,571,000 6,804,000 A 4,233,000
OOROIEETY U RADSHFY S A
2,571,000, 000 2,571,000
s 2,571,000
WSAD &2 R INEMS(HEAY) 568,000 900,000 A 332,000
403 MtXISHHE X201 E 568,000 900,000 A 332,000
01 AXSHMA=2EE 568,000 900,000 A 332,000
OQUEAMD &S 2 MHA(AIZ) 568,000, 000 568,000
OEolE2s3d HHAY 1,894,000 1,161,000 733,000
s 1,894,000
403 A X EHHS =0l A 1,894,000 1,161,000 733,000
s 1,894,000
01 X EHHMA=LE L 1,894,000 1,161,000 733,000
Oooelol2sx49 Mo 1,894,000, 000 1,894,000
as 1,894,000




SN DERYY
By C208E XL
Oell CROUMAM HE (ero: @ 9)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
LoEs 2y e (HMEAY) 1,693,000 850,000 843,000
403 UHXISHHSA=0l& 1,693,000 850,000 843,000
01 XM= E L 1,693,000 850,000 843,000
OkEs39 e 1,693,000, 000 1,693,000
OrMsIE s st A TMHALY (HEAIY) 500,000 0 500,000
403 XSS A=0l& 500,000 0 500,000
01 XM A2E X 500,000 0 500,000
Ootdsr Seetd =4 500,000, 000 500,000
NESHEAE =& 600,000 1,075,000 A 475,000
403 MtXISHHE X201 & 600,000 1,075,000 A 475,000
01 XM A=2EE 600,000 1,075,000 A 475,000
ORusS==TH ZXXE 600,000, 000 600,000
ITS 25 X& 6,030,000 1,140,000 4,890,000
= 6,030,000
308 XX EHH SOl A 6,030,000 1,140,000 4,890,000
= 6,030,000
01 X HHILEXS 6,030,000 1,140,000 4,890,000
OIS =X & 6,030,000, 000 6,030,000
= 6,030,000
HWEeEsS (S H) 210,000 175,000 35,000
WEHAXS(RSE L) 210,000 175,000 35,000
NI St == = & 0IXae 210,000 175,000 35,000
705 Gl=3Acl3&E 210,000 175,000 35,000
04 Al - EXI SO D 3 0l === 0l Xh &k & 210,000 175,000 35,000
OHA BAl EETHE XI& 175,000, 000 175,000
g8 stShsA SSNAX 4
35,000, 000 35,000
HE2HZH (RS ) 55,260 52,380 2,880
Jleddl (s =) 55,260 52,380 2,880
Jl2dl(nsd =) 55,260 52,380 2,880
201 £B-2dH| 26,010 24,480 1,530
01 At 22l 26,010 24,480 1,530
Ons3ax gRF2 26,010,000 26,010
202 o4dl 26,010 24,480 1,530
01 = LH o4 1l 26,010 24,480 1,530
Ous&x ge=za 26,010,000 26,010
203 YR =] 3,240 3,420 A 180
04 EA2IYRFLH| 3,240 3,420 A 180
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